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B.Com. (Part I) Examination

BUSINESS ECONOMICS
Paper : BC-05

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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Give examples of any fwo substitute goods.
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What is meant by Monetary income ?
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What do you understand by equilibrium of
industry ?
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What is discriminating monopoly ?
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What are real wages ?
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What is the meaning of liquidity preference ?
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(vii) What is implicit cost ?
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Section-B 4x7=28 3. Explain the concept of consumer’s surplus. What
(Short Answer Type Questions) are the difficulties in measurement of consumer’s

Note .(— Answer any four questions. Each answer should not surplus.
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4. Explain the law of demand. Why do most of
the demand curves slope down from left to

right ?

2. “Business economics 1s the integration of
economic theory and business practice for the 5. Explain the properties of Iso-quant curves.

purpose of facilitating managers in decision- S P |
making and future planning.” Comment.
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6. How is price determined in short-run and long-

run under perfect competition ? Explain.
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7. What is an oligopoly ? Under what circumstances gis—¥

does the demand curve become kinked in (& T uv)
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oligopoly ?
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8. What are the problems in measurement of

10. Explain the Modern Theory of Wages with
diagram. How are wages determined under

imperfect competition ?
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9. Explain the modern theory of rent. 11. Explain the difference between marginal utility and

total utility. Explain the relationship between them
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through table and diagram.
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Section—-C 2%x14=28

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit HHHAET |
your each answer maximum up to 500 words. 12. What is Iso-product curve ? Give its characteristics.
Each question carries 14 marks. e A o P 7 T fasmant |
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13. Mention the various theories of interest
determination. Explain the modern theory of
interest.
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